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IEH1TH 253 327 580 IEITH 150 700 850 F{EIEF BT 205 545 750 T{EARRATE 27 1,223 1,250 AASTH 403 567 970
EH2TH 519 771 1,290 Jbp0 AT 333 377 710 FERATITH 29 171 200 BT HERITITH 415 885 1,300 AARATH 357 243 600
HFH3ITH 432 1,348 1,780 ERITH 364 666 1,030 F{ERE2TH 536 314 850 TRETHRI2TH 308 492 800 AAALET 324 216 540
aH4TE 485 915 1,400 FER2TH 292 1,048 1,340 FEZA3TH 377 363 740 P HREI3TH 295 405 700 AR 297 103 400
BFH6TH 112 728 840 ZR3ITH 407 1,003 1,500 FiEE sThr 391 309 700 FEHHANMITH 630 630 1,260 AR 445 175 620
HH6TH 386 514 900 ERATH 132 968 1,100 F{E it 614 826 1,440 P HAR2TH 194 1,256 1,450 AR AT 471 229 700
Ei1TH 549 621 1,170 shE1TH 347 1,233 1,580 F{EHNET 513 307 820 FESTHAR3TH 288 412 700 AKITH 453 147 600
Bu2TH 584 746 1,330 5hiE2 T H 209 1,391 1,600 FEITH 234 506 740 B ARAT H 655 1,195 1,850 FAR2TH 568 332 900!
EI3TH 459 1,111 1,570 T TH 264 736 1,000 Fix2TH 192 458 650 FAiHARST A 251 599 850 BEXRITH 204 356 560
E74TH 636 864 1,500 T2 TH 594 556 1,150 F{E3TH 363 487 850 mHHITH 375 725 1,100 BEF2TH 134 306 440
¥HiTH 592 1,108 1,700 TAE3TH 737 663 1,400 FixaTH 544 556 1,100 i H2TH 317 883 1,200 BERITH 310 760 1,070
iz TE 488 1.412 1,900 T4 TH 458 1,142 1,600 FiE5TH 444 556 1,000 mEHHITH 222 728 950 #H1TH 244 946 1,190
IE_;}ﬁaTE 137]  1.213] 1380 IIL5TH 110 40 150 B/ H BT 643 1,107 1,750 FHFHITH 648 612| 1260 #R2TH 80 640 720
#HH4ATH 374 1,096 1,470 STAE6TH 124 1,016 1,140 WEITH 688 442 1,130 EHMHSTH 373 577 950 #H3TH 136 594 730
$#H5TH 242 1,128 1,370 STRITH 217 723 940 [HR2T B 859 381 1,240 FaHHETH 531 729 1,260) &44TH 130 530 660
iEF6TH 362 938 1,300 HFEAREITH 345 185 530 /1 TH 239 1,681 1,920 EHHITH 96 424 520 #ths5TH 132 618 750
BHITH 201 549 750 S FBARE2T B 446 344 790 T /52T B 200 710 910 mMEITH 15 0 15 FAITH 399 921 1,320
FEITH 386 564 950) HFAFRITE 421 99 520 T/Z3TRH 138 1,332 1,470 ANFE2TH 71 43 120 XA2TH 343 697 1,040
FHE2TH 258 462 720 BTAKE4TH 315 145 460 T /84T B 42 698 740 EMITE 260 390 650 7AH3TH 256 484 740
{#IA3TH 357 923 1,280 EFITH 426 284 710 T/E5T B 284 696 980 {EM2TE 173 407 580 AEMTH 232 168 400
AT H 409 721 1,130 £%2TH 468 892 1,360 1T /156 T B 73 1,237 1,310 1EM3ITE 317 633 950 7Br2TH 177 163 340
{#HE5TH 321 359 680 MAITH 310 210 520 T/Z1TR 155 775 930 EMATE 335 915 1,250 B3 TH 248 202 450
{FRAERNTH 145 355 500 m32TH 139 221 360 RRITH 134 736 870 EMsSTE 59 941 1,000 FEATH 158 92 250
FHEFRE2TH 219 231 450 MiB3TH 229 91 320 EiB2TH 363 447 810 EM6T B 299 311 610 6.501 9,489 15,990
ABITH 182 218 400 BEEITH 128 232 360 FRARITH 139 651 790 EMITH 186 244 440

AB2TH 188 212 400 BEE2TH 555 445 1,000 B AH2TH 293 1,157 1,450 EM8TH 14 1,076 1,090

A®B3ITH 162 188 350 FEE3TH 406 354 760 FRARTZT B 152 948 1,100 HEBHITH 262 1,148 1,410

AB4ATH 185 135 320 BiE4ATH 442 338 780 hRAN4TH 340 1,360 1,700 HiEHeTH 107 813 920

ABSTH 88 52 140 FER5TH 246 904 1,150 FRARSTH 180 570 760 HiEHITH 126 754 880

AH6TH 0 30 30 FBEGTH 406 594 1,000 BITH 20 20 40 HFEITH 367 253 620

ABTITH 92 168 260 FEE7TH 238 562 800 #2TH 266 184 450 H{FHE2TH 398 272 670

ABBTH 97 343 440 FEEBTH 308 332 640 EHITH 412 798 1,210 |R{FHEITH 422 588 1,010

ABITH 88 262 350 Ei81TH 204 466 760 HH2TH 482 838 1,320 HPHEATE 80 60 140

BE1ITH 542 838 1,380 B1i82TH 554 1,106 1,660 HfsTH 307 743 1,050 HEEAMITE 317 1,213 1,530

HE2TH 541 829 1,370 5183TH 284 666 950 FEH4TH 511 1,169 1,680 HRAR2TH 336 394 730

#\E3TH 766 1,284 2,050 BiR4TH 308 832 1,140 FMSTH 359 1,041 1,400 EoaNG 1 275 285 560

HEITH 407 393 800 HEITH 230 850 1,080 &MTE 335 245 580 —YEITH 192 368 560

#BE2TH 438 462 900 $iH2TH 425 575 1,000 £AN2TH 436 294 730 —WE2TH 149 1,081 1,230

M3 TH 508 402 1,000 HEHITH 608 1,392 2,000 £ A3TH 685 195 880 —YEITH 192 478 670

iBEATH 646 304 950 FEAEITH 462 178 640 £N4TH 278 82 360 —YRITH 78 102 180

BHASTH 482 788 1,270 FEAE2TH 348 202 550 £ A5TH 863 287 1,150 EHITH 342 368 710

M6 TH 565 885 1,450 MEEITH 79 221 300 Z£A6TH 91 909 1,000 FH2TH 156 84 240

EAITH 478 1,322 1,800 #iEA2 T H 242 468 710 HINTH 3 659 1,000 EHITH 320 430 750

BESTH 118 762 880 FMEAITH 396 354 750 2T E 537 463 1,000 REMITH 301 1,250 1,560

miTH 1,024 1,176 2,200 MRITE 478 262 740 $JII3TH 510 330 840 EAR2TH 348 472 820

m2TH 428 922 1,350 BER2TH 1,207 663 1,870 FI4TH 489 1,011 1,500 {RARSTH 348 592 940

m3ITH 362 1,138 1,500 MIR3TE 1,167 1,033 2,200 $)II5TH 202 158 360 RARM4TH 345 575 920

AEHITH 475 1,625 2,100 F{EEEMT 260 870 1,130 miEHITH 133 317 450 EAESTH 444 786 1,230

XEH2TH 172 228 400 F{EBET 779 941 1,720 P2 TH 300 820 1,120 {RIZHT 628 372 1,000

AEHITH 366 1,084 1,450 FEHEITH 317 353 670 ST B 375 985 1,360 B/N1TE 100 100 200

AEMATH 152 528 680 FER2TH 379 1.071 1,450 T4 T B 148 352 500 IE/A2T 8 114 136 250

A#HESTH 461 1,039 1,500 F{EXJIIET 921 649 1,570 ERRITH 635 265 900 MEmITH 302 328 630

HHITH 496 254 750 F{E A R ET 501 829 1,330 TH{RE2TH 455 195 650 miEiHe T B 624 796 1,420 BIX

HE2TE 889 531 1,420 FHEFAT 577 713 1,290 TH{RE3TH 570 170 740 HIEMm3TH 551 509 1,060 B 88743
MNEITH 62 438 500 FlEHEKITH 69 631 700 [FE{REAT B 273 147 420 E{EM4T B 284 1,146 1.430 !
ME2TH 650 850 1,500 FEEAR2TH 140 910 1,050] mY/EITH 152 648 800 BiEMsTH 72 1,148 1,220 EAE 161.282
mEITH 233 197 430 F{EESEED 55 1,295 1,350 17 /152 TH 191 329 520 BEHITHE 475 1,125 1,600 = 2
mE2TH 335 595 930 F{EAEEHAET 481 389 870 FHREARITAE 258 502 850 =H2TH 57 93 150 SFEH 250.025
IEITH 185 845 1,040 F{E{fET 835 745 1,580 FEEARM2TH 113 1,367 1,480 AAITH 204 1,156 1,360 3
mE2TH 104 426 530 F{E b ERT 341 709 1,050 EEARBITH 42 1,008 1,050 AA2TH 137 113 250

21973 40,757 62,730 23,303 37957 61,260 20,143 36,947 57.090 16,823 36,132 52,955




